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The figures in the margin indicate full marks -
for the questions ;

PART—A

( Business Mathematics )

( Marks : 32)
1. W% G S5 o - ' 1x3=3
Write True or False :
0 01
(@ 3 A=[0 1 0], coB A ! =A.
1-70°°0)
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Determine the matrices A and B whera L
il o}

1
A= 01 then Al w A
{

- o
O -

) i fige2x® 43x42, (B8 ) =7

I fix =22 +3x 42, then f(i) = 7 W/ Or

fe] W€ 4% BEE 5,000 B 2 oere we o ,_ ) 0t f SR
5% 400 591 WA=l 2 3, oA B
‘ S '- L I
Simple interest on © 5,000 for 2 years at : 13 1 1
the rate of 4% poa is © 900, f
| FA=|

then caleulate A™Y

w B e

)
1)
|

--ﬁ..):.)

2

2, W A=2 2 4) oen A -3A2 =0
| i
i

4 W fid=227 +3xe2, @@L, fO) W
= !

HA={2 2 4, verify that A7 -34+2/=0. 0 .
| F-3p W fasty w1 : g

W fig=2x% + dx+2, then find f(1), f0) and
-3

1 2 0}
3. WA= 6 -3 3| W
' -8 3 i :
7 “c. i § 5. q‘ty;w‘ {qgg !jfg-wyl(?“!ﬁﬂm” -
2A-B={2 -1 &] di® |
o 12 :

fy=x* log s ind 2.4,
cEn AW B Yeew 6 fy=x"logx, ten Bnd =5

PRI { Coninued ) = P23/1138 L [(Tumouer)
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(4)

&eqr/ Or

1 xfl+y+ydl+x =0,
1+ x)* iynkl =0,
dx

Ao BAE LIS

If xJl+y+yJl+x=0, then show that
1+x9> % 41=0.
dx

e e a3 PR wEf @R 5% vaqfE 29
e 7, aficz 7o 9l fReay i @i e

In what time an amount of money doubles at
5% (p.a.) compound interest if interest is due
“annually?

@ @ e qefd vargfh 2 faers 2,420 b
o S T 2,662 Ba w1 EaiE W ue e
74 Cferaa |

A certain  sum compounded annually
amounts to ¥ 2,420 in 2 years and ¥ 2,662 in
3 years. Find the principal and rate of
interest,

( Coninued )

4@ o2 v 1

PARTw‘B’

( Business Statistics )
( Marks : 48 )i

Fill in the gaps :

(@) T vare Fe T UK iRy W

(b)

(c)

(d)

(e)

P23/1138

Mode is the value that has the maxunum . '

e
-2 Mean. .

: = B
Mode =

i r =0, (OB AR @O O AFCTET

l ' :
If r =0, then the two lines of regressiOns s
are to each other. ’

THRF RS W@ o AW
Index number is usually expressed in
form.

EE RE @ e
Sk e

Sale of oranges is an example of
a time series.

wfged 96

in
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9. ja) WN@ (b) werd TR 9

Answer either (@) or (b) :

(@) () TS R TR R TR ey w9
Calculate mode from the following :
7,56,7,8,7,4,7,6,5

(i) FER eRTER we fF, ¢ w91 @y
AT MR oprgE & R o
Explain what is meant by central
tendency of data. What are the

common measures of central
tendency?

(i) ©= Rl Remmm amifde e fidy

4l 6_

Calculate the standard deviation for
the following distribution :

% (&fF) 44-46 46-48 48-50 50-52 52-54
Weight (kg)
IR : 3 24 27 21 5
Frequency

91/ Or

Which measure of dispersion is the
best and why?

:P23/ 1138 ( Coninued )

1+4=5

RS B S

Lt

Calculate quartile deviation for the
following data : :

i (597) 30-34 35-37 3840 41-43 4430 .

income (%) ‘ q S
o R D14 6299 180
No. of Persons : :
(iij) wrs frn Rema @ e 5 ;
Rvem fefa w41 R
Calculate mean deviation from ;
mean from the following
distribution :

oot gt (6°1) 8-11 12-15 16-19 20-23 24-27
Daily Wages @ v ' ‘ ,
F 519 7R ) 5 11 20 10 4

No. of Workers

10. (o) ST (b) SR T T :

Answer either (a) or (b) :

(@ (i) TR W e e & Y-

Rt SCasAl 40 ’ 3
Discuss the differences between
regression and correlation.

{ Tum Quer}
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(10 )

(i} wars frm oo grae @l orged @ fsra
spica Geor Aferar oA Brs @

 ( 11 ) * S

(m)W%wﬁﬁzwmﬁz@mmw S
st 0 , --6?' o
Calculate the 4-yearly movmg i
average from the followmg data: '

4
Year v e
7S () 60 75 59 42 70 S

Profit lakhs)

: 2010 2011 2012 2013 2014

2015 2016 2017 2018

Using the following data, show that
Fisher's index satisfies factor-
reversal test :
fefa st of
il Base Year Current Year
Items il (% ) ofdsr ey (r";;wg) ofae
Prioe {in ©)| Quantity | Price (in ®)| Quantity
A iQ 100 12 96
H 8 96 8 104
{ 12 144 15 120
o 20 300 25 250
E 5 40 8 G4
W&/ Or
() (i @ W fomer afvs esfer favy
R L 3
Discuss the graphic method of time
series analysis,
(i) peeeq phagy oimm efide fa fa
SAm sw o Wocenn aba far
Al WM 43=5
What are the tests for ade quacy of
index number? Explain elaborately
one of them,
P23/1138 om
{ Coninued )

7
Year
7S (M) 60 80 95 92
Profit {lakhs) :
* ok ok
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